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AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;01

									         	 gFjp - A
FWNehf;F tpdhf;fhd tpilfs; (OTQs)
gjpide;J (15) fl;lha tpdhf;fs;

(nkhj;jk; 40 Gs;spfs;)

tpdh 1w;;fhd ghpe;;Jiuf;;;fg;;gl;l tpilfs; 

(03 Gs;spfs;)

(03 Gs;spfs;)

(03 Gs;spfs;)

(03 Gs;spfs;)

,yq;if fzf;fPl;Lj; njhopy;El;gtpayhsu; fofk;

fy;tp kw;Wk; gapw;rpg; gpupT

(AA1) guPl;ir – [{iy 2018
(AA12) tpahghuj;jpw;fhd fzpatpay; Kiwfs;

gupe;Jiuf;fg;gl;l tpilfs;

1.1 6x + 4 = 4x + 16 
 2x = 12 
 x  = 6 
       tpil (2) 
 
1.2 ,ir epfo;r;rpf;F te;j taJte;jtu;fspd; vz;zpf;if =   x 
 ,ir epfo;r;rpf;F te;j rpWtu;fspd; vz;zpf;if  =   40 – x 
 nkhj;j EioTr;rPl;Lfs; tpw;gid tUkhdk;   = &gh. 5,000 
 
 200x + 100(40 – x)  =  5000 
 200x + 4000 – 100x  = 5000 
 100x         =  1000 
 x         =  10 

tpil (2) 
  
1.3 0.35 + 0.25 + x   =  1.00 
 X   =  1.00 – 0.60 
 X   =  0.40 
 
       tpil (3) 
 
1.4  A  =  P(1 + r)n 
 P  =  100 r = 0.1  n = 3 
 A  = 100X1.1 3 
 A  = 133.1 
 tq;fpapy; ,Uf;ff;$ba nkhj;jj; njhif 133.1 kpy;ypad;. 
       tpil (1) 



AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;02

(03 Gs;spfs;)

(03 Gs;spfs;)

(03 Gs;spfs;)

(03 Gs;spfs;)

(03 Gs;spfs;)

1.5 TC  = q3 - 10q2 + 25q + 10 

 
dq

dTC
 = 3q2 – 20q + 25 

MC = 3q2 – 20q + 25   tpil (2) 
       
 
1.6 fpuak;  ,yhgk;  tpw;Fk; tpiy 
 100   20  120 
 2400    ? 
 
 tpw;Fk; tpiy  = 2400 X 120 = &gh. 2,880.00 
            100   tpil (2) 
 
 
1.7 r   =                   n ∑ XY -  ∑ X . ∑ Y 

            (n ∑ X2 -  (∑ X)2 ) (n ∑ Y2 -  (∑ Y)2 ) 

 

 r   =   15 X 9915 – 177 X 679 

                (15 X 2576 -1772 ) (15 X 39771 - 6792 ) 

 

=  0.9068 
      tpil (1) 
 

 
1.8 2014 Mk; Mz;il mbahz;lhf khw;wk; nra;Ak; NghJ 2017 Mk; 
 Mz;bw;fhd Rl;nlz;zhf miktJ      = 130 x 100 
                             90 
          = 144.44 
          = 144% 
 tpil (1) 
  
    
1.9   0 X 0.45        =   0 
 1 X  0.22        =   0.22  
 2 X 0.19        =   0.38 
 3  X 0.08          =   0.24 
 4  X 0.06          =   0.24 
          tPjp tpgj;Jfspd; vz;zpf;ifapdJ vjpu;Tg; ngWkhdk;  =   1.08 

tpil (2) 
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1.10      S n┐r      =   X{ ^1 + r & n -1 
r 

    
75 000  =   X{ ^1.03 & 8 -1 

                                          0.03 
 

75 000 X 0.03    =          X 
                                   (1.038 – 1)                       
  X          =  8 434 

       
tpil (4) 

 
 
1.11     I = prt  p = 200,000 r = 0.12 t = 3 

  I  = 200,000 X  0.12 X 3 

  I =  72,000 

   nkhj;j tl;b = &gh. 7, 000 

 

1.12     A  = P(1 + r)n 
  P  = 200,000 r = 0.12  n = 3 
  A  = 200,000 X 1.12 3 
  A  = 280,985.60 
 nkhj;j tl;b = &gh. 80,985.60 

  
1.13    A = P(1 + r/N)nxN 

  P = 200,000  r = 0.12  n = 3   N=4 
  A = 200,000 X (1+0.12/4) 3X4 
 A = 200,000 X 1.03 12 
  A = 285 152.18 
 nfhLf;f Ntz;ba njhif = &gh. 285,152.18 

 
 1.14     $w;W rup 

 
  1.15    $w;W gpio 

03

(03 Gs;spfs;)

(02 Gs;spfs;)

(02 Gs;spfs;)

(02 Gs;spfs;)

(02 Gs;spfs;)

(02 Gs;spfs;)

(nkhj;jk; 40 Gs;spfs;)

S	 =	 A (Rn - 1)
		      R - 1

S	 =	 A [(1.03)8 - 1]
		      1.03 - 1

75,000	 =	 A [(1.03)8 - 1]
		         0.03

2,250	 =	 0.2667A

A	 =	 8,434

gpupT  A  ,d; epiwT



AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;04

tpdh 2w;;;fhd ghpe;;;Jiuf;;fg;gl;l tpilfs;

										           gFjp - B
ehd;F (04) fl;lha tpdhf;fs;.

(nkhj;jk; 40 Gs;spfs;)

(03 Gs;spfs;)

(02 Gs;spfs;)

(02 Gs;spfs;)

(03 Gs;spfs;)
(nkhj;j;k; 10 Gs;spfs;)

(a) (i)    C   = x2 - 90x + 4800 
    X  = 60 

      C  = x2 - 90x + 4800 
   C  = 602 – 90 x 60 + 4800 

    C  = 3000 
,yhg el;lkw;w Gs;spapNy nkhj;jr; nryT &gh.  3,000 kpy;ypad; 

 
(ii)  ,yhg el;lkw;w Gs;spapNy 
   TR  = TC 

MfNt  TR  = 3000 
 
   TR  = p x q 
   P x q  = 3000 
   P x 60 = 3000 
   P        = 3000/60 
   P        = 50 

tpw;gid tpiy &gh.  50 kpy;ypad; 
 
  

(b) (i) ,yhgr; rhu;G 
 

P(x) = R(x) -  C(x) 
P(x)  = (36x - 4x2) – (24x – 3x2 + 1200) 
P(x)  = 12x –x2 – 1200 

 
 (ii) R(x) = 36x - 4x2 

 MR = 
dx
dR

 

MR =  36 – 8x 
 
C(x) =  24x – 3x2 + 1200 
MC = 24 – 6x 

 
  ,yhgk; cr;rkhFk;NghJ 

 
 MR      =   MC  
 36 – 8x =  24 – 6x 
2X = 12 
X  = 6 
06 myFfspy; ,yhgk; cr;rkhFk; 
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(a) (i) 
 
 
 
 
 
 
  
 
 
 
 
 A  – FO 1 ntw;wp 
 
 B  – FO 2 ntw;wp 
 
 N  – Gjpa nraw;wpl;lk; njhlf;fk; 
  
 

(ii)  Gjpa nraw;wpl;lk; njhlq;F tjw;fhd epfo;jfT  = 0.48 + 0.16 
    = 0.64  
 

(b)    (i)  epfo;jfT = 75/98 

         (ii)  epfo;jfT = 15/98 

 

 

 

A 

B 

 

 

 

 

N (A, N)   0.6 x 0.8 
 

N’ (A, N’)  

N (B, N) 0.4 x 0.4 

N’ (B, N’)  

05

tpdh 3w;;;fhd ghpe;;;Jiuf;;fg;gl;l tpilfs;

khw;Wg; gjpy;fs;

b)	 ii)
		  cr;rg;Gs;spapy; 

			   dP	 =	 -2x + 12
			   dx
			   2x	 =	 12
			   x	 =	 6 myFfs;

FO 1

Nju;jy; ntw;wp

nraw;wpl;lk; njhlf;fk;

Mk;

Mk;

Mk;

,y;iy

FO 2

→

→

(03 Gs;spfs;)

(03 Gs;spfs;)

(02 Gs;spfs;)

(02 Gs;spfs;)

(nkhj;jk; 10 Gs;spfs;)



AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;06

tpdh 4w;;;fhd ghpe;;;Jiuf;;fg;gl;l tpilfs;

(07 Gs;spfs;)

(03 Gs;spfs;)
(nkhj;jk; 10 Gs;spfs;)

    (a)           b        =          n ∑ XY -  ∑ X . ∑ Y 

                                 (n ∑ X2 -  (∑ X)2)  

 

            b        =          6 (990) – (30) (180) 

                                   6 (190) - 302 

      b        =    2.25 

 

      a      =  y – b x 

      a    = 180/6 – 2.25 X 30/6 
       a   =  18.75 
 

gpw;nryTf; Nfhl;il     =       Y = a + bx 
   Y = 18.75 + 2.25x 
 

  (b) x = 7  NghJ 
  Y = 18.75 + 2.25 X 7 
      = 34.5 
tUlhe;j tUkhdk;  &gh.  34.5 kpy;ypad ;



AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;07

tpdh 5w;;;fhd ghpe;;;Jiuf;;fg;gl;l tpilfs;

khw;W gjpy;

a)	 ii)

		  epak tpyfy;	 	 =	 Σ (x2 - x)2

						             n

		  =   (60 - 65)2 + (92 - 65)2 + (84 - 65)2 + (66 - 65)2 + (54 - 65)2 + (37 - 65)2 + (62 - 65)2

							       7

		  =    25 + 729 + 361 + 1 + 121 + 784 + 9
				         7

		  = 	 2030
			      7

		  =	 290

		  =	 17.02

(02 Gs;spfs;)

(04 Gs;spfs;)

(a)  

(i)    ,il (x)     =       ∑ X         
                        n                 
 
       = 455/7 
       = 65 
 
 (ii) 

epak tpyfy;  =       ∑ X2   -     ∑ X    2 

                          n               n 
   

 epak tpyfy;   =       31 605         -    455   2 

                          7                     7 
 
         = 17.02 

 

(b) 

                              

 

Quarter sales
Moving 
average

1 20

2 30
149 37.25

3 40
168 a= 42

4 59
181 b= 45.25

1 39
203 c= 50.75

2 43
225 d= 56.25

3 62
238 e= 59.5

4 81
260 f= 65

1 52
273 g= 68.25

2 65
286 h= 71.5

3 75

4 94



AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;08

(04 Gs;spfs;)

(nkhj;jk; 10 Gs;spfs;)

b)

Mz;L fhyhz;L fhyhz;L 

tpw;gid 
(&. ‛000)

efUk; 

ruhrup

2015

1 20

2 30
149 37.25

3 40
168 (a) 42

4 59

2016

181 (b) 45.25
1 39

203 (c) 50.75
2 43

225 (d) 56.25
3 62

238 (e) 59.5
4 81

2017

260 (f) 65
1 52

273 (g) 68.25
2 65

286 (h) 71.5
3 75

4 94

gpupT  B  ,d; epiwT
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										          gFjp - C
xU (01) fl;lha tpdh

(nkhj;jk; 20 Gs;spfs;)

tpdh 6w;;;fhd ghpe;;;Jiuf;;fg;gl;l tpilfs;

09

(04 Gs;spfs;)

(05 Gs;spfs;)

(05 Gs;spfs;)

(A)          nghUs;  nghUs; ghiffspy; 

  P  40 × 360
170 = 84.70   

  Q  45 × 360
170 = 95.30  

  R  50 × 360
170 = 105.80  

  S  35 × 360
170 = 74.20  

(B)  

 P0 q0 p1 p0q0 p1q0 

A 850 1100 1150 935,000 1,265,000 

B 600 500 610 300,000 305,000 

C 450 1400 350 630,000 490,000 

       1,865,000 2,060,000 

  

,yh]; ngahupd; tpiyr; Rl;nlz; ( 01LP )  = 100
)(
)(

00

01 







qp
qp

 

 

      = 100
000,865,1
000,060,2

 % 

      

=110.45% 

(C) 

   4x + 2y   = 40   
2x + 5y  = 60   

  2 4x + 10y =120   
 
  - 8y   = 80 
   y   = 10 
    
                           gpujpaPL   x = 10,in  " 
   2x + 50  = 60 
   2x    = 10 
   x    = 5 
    

 
 

x = 5 
y = 10 



AA1 / QMB tpahghuj;jpw;fhd fzpatpay; Kiwfs;10

d)	 i)
	

Mz;L fhR 

cl;ghar;ry;

(fopT 

tPjk;)

,w;iwg; 

ngWkjp

0 1 (500,000)

1 150,000 0.909 136,350
2 220,000 0.826 181,720

3 260,000 0.751 195,260

epfu ,w;iwg; ngWkjp (NPV) 13,330

ii)	 epfu ,w;iwg; ngWkjp Neu;kiw MfNt fk;gdpahdJ ,r;nraw; jpl;lj;jpy; 

Kjypl Ntz;Lk;.

(04 Gs;spfs;)

(02 Gs;spfs;)
(nkhj;jk; 20 Gs;spfs;)

gpupT  C  ,d; epiwT

(A)          nghUs;  nghUs; ghiffspy; 

  P  40 × 360
170 = 84.70   

  Q  45 × 360
170 = 95.30  

  R  50 × 360
170 = 105.80  

  S  35 × 360
170 = 74.20  

(B)  

 P0 q0 p1 p0q0 p1q0 

A 850 1100 1150 935,000 1,265,000 

B 600 500 610 300,000 305,000 

C 450 1400 350 630,000 490,000 

       1,865,000 2,060,000 

  

,yh]; ngahupd; tpiyr; Rl;nlz; ( 01LP )  = 100
)(
)(

00

01 







qp
qp

 

 

      = 100
000,865,1
000,060,2

 % 

      

=110.45% 

(C) 

   4x + 2y   = 40   
2x + 5y  = 60   

  2 4x + 10y =120   
 
  - 8y   = 80 
   y   = 10 
    
                           gpujpaPL   x = 10,in  " 
   2x + 50  = 60 
   2x    = 10 
   x    = 5 
    

 
 

x = 5 
y = 10 
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Notice : 

These answers complied and issued by the Education and Training Division of AAT Sri Lanka 
constitute part and parcel of study material for AAT students.
These should be understood as Suggested Answers to question set at AAT Examinations and should 
not be construed as the “Only” answers, or, for that matter even as “Model Answers”.
The fundamental objective of this publication is to add completeness to its series of study texts, 
designs especially for the benefit of those students who are engaged in self-studies. These are 
intended to assist them with the exploration of the relevant subject matter and further enhance their 
understanding as well as stay relevant in the art of answering questions at examination level.
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